Industrial Revolution DBQ
Prompt:  As the Industrial Revolution challenged long standing economic institutions, the impact of the new labor system was far reaching. Evaluate the effects of the Industrial Revolution.  Did the costs outweigh the benefits? Consider short-term and long-term effects.
Carefully choose 10 documents from the packet being sure to demonstrate at least three clusters in your essay.  Pay close attention to the rubric: a) especially using documents as evidence to address all aspects of the prompt, b) analyzing point of view, and c) requesting additional documents to demonstrate outside knowledge.  Use MLA format and your response must be no longer than three pages, so use calculated word choices and efficient writing styles.  “Say what you mean and mean what you say!”
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